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001.	 Pick the word that ‘is closest in meaning to 
‘Abound’:

	 (A)	 Flourish	 (B)	 Aggravate
	 (C)	 Secure	 (D)	None of the above

002.	 Pick the word that is closest in meaning to 
‘Calamity’:

	 (A)	 Fortune	 (B)	 Adversity
	 (C)	 Compassionate	 (D)	Sullied

003.	 Antonym of ‘Novice’:
	 (A)	 Tyro	 (B)	 Beginner
	 (C)	 Veteran	 (D)	Baneful

004.	 Antonym of ‘Sacred’:
	 (A)	 Profane	 (B)	 Immigrant
	 (C)	 Scheme	 (D)	Concise

005.	 Pick the word that is closest in meaning of 
the idiom “Beat around the bush”:

	 (A)	 Avoiding the main topic
	 (B)	 A good idea or plan
	 (C)	 All the advantages
	 (D)	 Something is very expensive

006.	 Pick the word that is closest in meaning of 
the phrase “Cut it out!”

	 (A)	� Come to understand a problem
	 (B)	 Stop doing something bad
	 (C)	 Very close
	 (D)	 Not very often

007.	 Which of the following words can be used to 
refer to study the nature of Gods:

	 (A)	 Theology 	 (B)	 Anthropology
	 (C)	 Speleology 	 (D)	Philosophy

PAPER-6 (Aptitude Test for MBA/MCA)
English Language	 :	 Q. 1 to Q. 25
Numerial Aptitude 	 :	 Q. 26 to Q. 50
Thinking & Decision Making	 :	 Q. 51 to Q. 75
General Awareness	 :	 Q. 76 to Q. 100

Paper 6 (English Language)
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008.	 ...... cat loves comfort.
	 (A)	 An	 (B)	 A
	 (C)	 The	 (D)	Zero article.

009.	 Sugar ...... is bad for your teeth.

	 (A)	 the	 (B)	 an
	 (C)	 a	 (D)	Zero article

010.	 The driver jumped ...... the car.
	 (A)	 in	 (B)	 off
	 (C)	 over	 (D)	upon

011.	 I have not slept ...... yesterday.
	 (A)	 since	 (B)	 after
	 (C)	 before	 (D)	over

012.	 God made the country ....... man made the  
town.

	 (A)	 that	 (B)	 where
	 (C)	 and	 (D)	or

013.	 She must weep, ...... she will die.
	 (A)	 or	 (B)	 an
	 (C)	 and	 (D)	that

014.	 Which of the following is the correct ‘direct’ 
equivalent of the sentence?

	 Ram ordered Arjun to go away.
	 (A)	� Ram exclaimed, “Alas! Arjun to go 

away.”
	 (B)	 Ram said to Arjun, “Go away”.
	 (C)	 Ram told, “Arjun go away”.
	 (D)	 Ram said, “Arjun to go away”.

015.	 Which of the following is the correct ‘indirect’ 
equivalent of the sentence?

	 “Call the first witness”, said the judge.
	 (A)	� The judge commanded them to call the 

first witness.
	 (B)	 �The judge told me that call the first 

witness.
	 (C)	 Call the witness the judge said.
	 (D)	 The judge said us to call the first witness

016.	 Which of the following is the correct ‘active’ 
equivalent of the sentence?

	 My pocket has been picked.
	 (A)	 Someone picked my pocket.
	 (B)	 My pocket was picked by someone.
	 (C)	 My pocket was picked
	 (D)	 Someone has picked my pocket.

017.	 Which of the following is the correct ‘passive’ 
equivalent of the sentence?

	 It is time to shut up the shop.
	 (A)	 It is time for the shop to be shut up.
	 (B)	 It is time to shop to shut up.
	 (C)	 It is time for shop being shut up.
	 (D)	 It has been time for the shop to shut up.

	� For Questions 18 to 21, refer to the  
following passage:

	 �	 Despite their similarities, the pyramids of  
Egypt and Mesoamerica seem to be unrelated 
because of distinct differences in the time 
of construction as well as their design and 
function. Historians have discovered that 
the construction of the pyramids in Egypt 
and Mesoamerica are separated by over  
2,000 years. The Egyptians used only cut 
stone quarried many miles away from the 
pyramid sites—a construction method that 
enabled them to construct sturdy buildings 
that could withstand the test of time.

	�	  On the other hand, the pyramids of 
Mesoamerica were not built to withstand the 
ravages of time. Rather, the step pyramids 
rose in tiers, on the top of which a small 
temple was erected. Unlike the Egyptians, 
they used irregular stones. Also, they did not 
share the same basic design function. While 
the Egyptian pyramids were private tombs 
meant to separate the pharaoh’s remains from 
the mainstream of society and protect him 
for eternity, the pyramids of Mesoamerica 
were primarily public temples of ritual and 
celebration.
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018.	 The main idea of this passage is best summed 
up in which statement?

	 (A)	� Pyramids in Egypt and Mesoamerica are 
similar.

	 (B)	� Egyptians assisted Mesoamerican 
pyramid builders.

	 (C)	� Pyramids in Egypt and Mesoamerica 
have distinct differences.

	 (D)	� Scientists do not know who built the 
pyramids.

019.	 This passage best supports the statement that

	 (A)	� the Egyptians used stone quarried many 
miles away from the pyramid site

	 (B)	� the pyramids of Mesoamerica were built 
to last for eternity.

	 (C)	� the Egyptian pyramids were public 
tombs.

	 (D)	� the Egyptian and Mesoamerican  
pyramids were built during the same 
time period.

020.	 The passage best supports the statement that

	 (A)	� Egyptian and Mesoamerican pyramids 
shared the same design function.

	 (B)	� both pyramids were used as temples of 
ritual and celebration.

	 (C)	� Egyptian and Mesoamerican pyramids 
shared the same construction methods.

	 (D)	� Mesoamerican pyramids were used for 
ritual and celebration.

021.	 The used word “eternity” in the passage most 
nearly means which of the following?

	 (A)	 for a short time	 (B)	 temporary

	 (C)	 for all time	 (D)	never

022.	 Choose the correct sentence from the 
following :

	 (A)	 He described about the scenery.

	 (B)	 He described the scenery.

	 (C)	 He described for the scenery.

	 (D)	 He descried in the scenery

023.	 Choose the correct sentence from the 
following :

	 (A)	 He requested for my help.

	 (B)	 He requested my help.

	 (C)	 He requested to my help.

	 (D)	 He requested about my help.

024.	 Choose the correct sentence from the 
following :

	 (A)	 The news is too to be true.

	 (B)	 The news to so good to be true.

	 (C)	 The news too much good to true.

	 (D)	� The news is very good that cannot be true. 

025.	 Choose the correct one:

	 (A)	 If I were you, I should agree

	 (B)	 If I was you, I should agree

	 (C)	 Both of the above

	 (D)	 None of the above
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Paper 6 (Numerical Aptitude)
026.	 What is angle ‘x’ in the schematic diagram 

given below?

x

130°

130°

130°

	 (A)	 60°	 (B)	 50°

	 (C)	 40°	 (D)	 30°

027.	 If i = 1- , then the value of  

i
i 1574

584

+
+ -

i i
i i
582 580

592 590

+
+

i i
i i
578 576

588 586

+ +
+ +  is

	 (A)	 –1	 (B)	 –2

	 (C)	 –3	 (D)	 –4

028.	 If w3 = 1, then 1- - .........1 3-1- -  

is equal to

	 (A)	 1	 (B)	 –1

	 (C)	 w2	 (D)	 – w

029.	 If sin A, cos A and tan A are in geometric 

progression then Cos3 A + Cos2 A is equal to  

(A)	 1	 (B)	 2

	 (C)	 4	 (D)	 None of these

030.	 If secθ + tanθ = P, then tanθ is equal to:

	 (A)	
P
P
1

2
2 -

	 (B)	 P
P
2
12 -

	 (C)	 P
P
2
12 + 	 (D)	

P
P
1

2
2 +

026.	 ZrMo {X¶o J¶o AmaoI ‘| H$moU ‘x’ H$m ‘mZ ³¶m  

h¡?

x

130°

130°

130°

	 (A)	 60°	 (B)	 50°

	 (C)	 40°	 (D)	 30°

027.	 ¶{X i = 1- , V~  

i
i 1574

584

+
+ -

i i
i i
582 580

592 590

+
+

i i
i i
578 576

588 586

+ +
+ +  H$m 

‘mZ h¡… 

(A)	 –1	 (B)	 –2

	 (C)	 –3	 (D)	 –4

028.	 ¶{X w3 = 1, V~ 1- - .........1 3-1- -  

~am~a h¡…

	 (A)	 1	 (B)	 –1

	 (C)	 w2	 (D)	 – w

029.	 ¶{X sin A, cos A VWm tan A JwUmoÌa joUr ‘| 

hm|, V~ Cos3 A + Cos2 A ~am~a h¡…

	 (A)	 1	 (B)	 2

	 (C)	 4	 (D)	 BZ‘| go H$moB© Zht

030.	 ¶[X secθ + tanθ = P, V~ tanθ ~am~a h¡…

	 (A)	
P
P
1

2
2 -

	 (B)	 P
P
2
12 -

	 (C)	 P
P
2
12 + 	 (D)	

P
P
1

2
2 +
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031.	 If sides of a traingle are 3, 5 and 7 cm, 

then the greatest angle in the triangle is 

	 (A)	 105°	 (B)	 120°

	 (C)	 135°	 (D)	 150°

032.	 The general solution of the equation tan θ 

+ tan 2θ + 3 tan θ tan 2θ = 3  will be 

	 (A)	 n
3
r 	 (B)	 n

2 3
1
3
r+a k

	 (C)	 n 3
1
3
r+a k 	 (D)	 z

033.	 The 13th term of the sequence 12, 14, 17, 13,  

8, 14, .................. is

	 (A)	 14	 (B)	 13

	 (C)	 15	 (D)	 0

034.	 A six sided regular polygon is inscribed in a  

circle of radius 10 cm, then the length of one 

side of the polygon is

	 (A)	 20 cm	 (B)	 15 cm

	 (C)	 10 cm	 (D)	 5 cm

035.	 How many numbers are there between 100  

and 1000 in which all the digits are distinct

	 (A)	 500	 (B)	 540

	 (C)	 648	 (D)	 700

031.	 ¶{X {H$gr {Ì^wO H$s ^wOm¶| 3, 5 VWm 7 cm 

h¡ V~ {à^wO H$m g~go ~‹S>m H$moU h¡

	 (A)	 105°	 (B)	 120°

	 (C)	 135°	 (D)	 150°

032.	 g‘rH$aU tan θ  +   tan 2θ  +   3 tan θ tan 2θ  =   3  

H$m ì¶mnH$ hb hmoJm

	 (A)	 n
3
r 	 (B)	 n

2 3
1
3
r+a k

	 (C)	 n 3
1
3
r+a k 	 (D)	 z

033.	 loUr 12, 14, 17, 13, 8, 14, ................. H$m 13 dm± 

nX h¡…

	 (A)	 14	 (B)	 13

	 (C)	 15	 (D)	 0

034.	 10 g|‘r {ÌÁ¶m dmbo d¥Îm ‘| EH$ 6 ^wOmAm| 

dmbm g‘~hþ^wO ~Zm h¡, V~ g‘~hþ^wO Ho$ 

EH$ ^wOm H$s bå~mB© h¡…

	 (A)	 20 cm	 (B)	 15 cm

	 (C)	 10 cm	 (D)	 5 cm

035.	 100 Am¡a 1000 Ho$ ~rM {H$VZr Eogr g§»¶m¶| 

h¡ {OZHo$ g^r A§H$ AbJ - AbJ h¡…

	 (A)	 500	 (B)	 540

	 (C)	 648	 (D)	 700
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036.	 In adjoining figure, AB || CD, ‘t’ is the 

transversal line, EG and FG are the 

bisectors of ∠BEF and ∠DFE respectively, 

then which of the following is true:
t

	 (A)	 FG2 + GE2 < FE2

	 (B)	 FG2 + GE2 = FE2

	 (C)	 FG2 + GE2 > FE2

	 (D)	 None of these

037.	 Which of the following statement is false?

	 (A)	� ∆A1B1C1 ≅ ∆A2B2C2 and  

∆A2B2C2 ≅  ∆A3B3C3 ⇒ ∆A1B1C1 

≅ ∆A3B3C3

	 (B)	� ∆A1B1C1 ≅ ∆A2B2C2 and ∆A2B2C2 ≅ 

∆A3B3C3 ⇒ ∆A1B1C1 @  ∆A3B3C3

	 (C)	� Triangle inscribed in a semicircle 

whose larger side is diameter of the 

semicircle is right angled triangle.

	 (D)	� Sum of all interior angle of the triangle 
is 180°

036.	 ZrMo Xr JB© AmH¥${V ‘|, AB || CD, ‘t’ EH$ 

{Ì¶H$ aoIm h¡ EG Am¡a FG H«$‘e… ∠BEF 

VWm ∠DFE Ho$ AY©H$ H$moU h¢, V~ {ZåZ ‘| 

H$moZ gË¶ h¡…
t

	 (A)	 FG2 + GE2 < FE2

	 (B)	 FG2 + GE2 = FE2

	 (C)	 FG2 + GE2 > FE2

	 (D)	 BZ‘| go H$moB© Zht

037.	 {ZåZ ‘| H$moZ gm H$WZ AgË¶ h¡…

	 (A)	� ∆A1B1C1 ≅ ∆A2B2C2 Am¡a  

∆A2B2C2 ≅  ∆A3B3C3 ⇒ ∆A1B1C1 

≅ ∆A3B3C3

	 (B)	� ∆A1B1C1 ≅ ∆A2B2C2 Am¡a ∆A2B2C2 

≅ ∆A3B3C3 ⇒ ∆A1B1C1 @  ∆A3B3C3

	 (C)	� AY©d¥Îm ‘| ~Zm {Ì^wO, {OgH$s ~‹S>r ^wOm 

AY©d¥Îm H$m ì¶mg h¡, g‘H$moU {Ì^wO hmoVm 

h¡&

	 (D)	� {Ì^wO Ho$ gmao A§V… H$moUm| H$m ¶moJ 180° 
hmoVm h¡&
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038.	 The circumferences of two circles are 264 

meters and 352 meters. The difference 

between the areas of the larger and smaller 

circles is

	 (A)	 4192 m2	 (B)	 4304 m2

	 (C)	 4312 m2	 (D)	 4360 m2

039.	 Two students appeared at an examination. 

One of them secured 09 marks more than 

the other and his marks was 56% of the 

sum of their marks. The marks obtained 

by them are:

	 (A)	 39, 30	 (B)	 49, 32

	 (C)	 33, 42	 (D)	 43, 34

040.	 ‘A’ can do a work in 15 days and ‘B’ in 20  

days. If they work on it together for 4 days, 

then the function of work left is:

	 (A)	 4
1 	 (B)	 10

1

	 (C)	 15
7 	 (D)	 15

8

041.	 The population of a city was 3000. It was 

increased by 4% in the first year and then 

decreased by 3% in next year. What was 

the total population at the end of two years?

	 (A)	 3208	 (B)	 3228

	 (C)	 2028	 (D)	 3026

038.	 Xmo d¥Îmm| H$s n[a{K¶m§ 264 ‘r. Am¡a 352 ‘r. 

h¢& ~‹S>o Am¡a N>moQ>o d¥Îmm| Ho$ joÌ’$bm| Ho$ ~rM 

H$m AÝVa h¡…

	 (A)	 4192 m2	 (B)	 4304 m2

	 (C)	 4312 m2	 (D)	 4360 m2

039.	 Xmo N>mÌ EH$ narjm ‘| gpå‘{bV hþ¶o& CZ‘| 

go EH$ Zo Xÿgao H$s VwbZm ‘| 09 A§H$ A{YH$ 

àmßV {H$¶o Am¡a CgHo$ A§H$ CZHo$ A§H$mo§ Ho$ 

¶moJ H$m 56% Wm& CZHo$ Ûmam àmßV {H$¶o J¶o 

A§H$ h¢…

	 (A)	 39, 30	 (B)	 49, 32

	 (C)	 33, 42	 (D)	 43, 34

040.	 A {H$gr H$m¶© H$mo 15 {XZm| ‘| Am¡a B 20 
{XZm| ‘| nyam H$a gH$Vm h¡& ¶{X dh Mma 

{XZm| VH$ Bg na EH$ gmW H$m‘ H$aVo h¢, 

Vmo {H$VZm H$m¶© ~M ahoJm…

	 (A)	 4
1 	 (B)	 10

1

	 (C)	 15
7 	 (D)	 15

8

041.	 EH$ eha H$s OZ g§»¶m 3000 Wr& n«W‘ df© 

Bg‘| H$s 4% ~‹T>moVar hþB© VWm {’$a Xÿgao df© 

3% H$s H$‘r AmB© Wr& Xmo dfm] Ho$ AÝV ‘| 

Hw$b OZg§»¶m {H$VZr Wr?

	 (A)	 3208	 (B)	 3228

	 (C)	 2028	 (D)	 3026
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Direction (Q.42 - Q.44) :

Study the given table and answer the question based 
on it.

Expenditures of a company (in Cr. rupees) per annum  
over the given years

Year
Expenditures

Salary Fuel and 
Transport Bonus Interest 

on loan Taxes

1998 288 98 3.00 23.4 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98

042.	 What is the average amount of interest per 

year which the company had to pay during 

the period 1998-2002?

	 (A)	 32.43	 (B)	 33.72

	 (C)	 34.18	 (D)	 36.66

043.	 Total amount of bonus paid by the company 

during the given period (1998-2002) is 

approximately what percent of the total 

amount of salary paid during this period.

	 (A)	 0.1%	 (B)	 0.5%

	 (C)	 1.0%	 (D)	 1.25%

044.	 Total expenditure on all the items in 1998 

was approximately what percent of the total 

expenditure in 2002?

	 (A)	 62%	 (B)	 66%

	 (C)	 69%	 (D)	 71%

{ZX}e (Q.42 - Q.44) :

{ZåZ gmaUr H$m AÜ¶¶Z H$a| Am¡a CgHo$ AmYma na {X¶o  
J¶o àíZm| Ho$ CÎma X|o-

{H$gr H$ånZr H$m à{Vdf© {X¶m J¶m ì¶¶ (H$amo‹S> 
ê$n¶m| ‘|)

df©
ì¶¶ H$m ‘X

doVZ 
B©YZ Ed§ 
n[adhZ

~moZg
F$U na 
ã¶mO

H$a

1998 288 98 3.00 23.4 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98

042.	 à{Vdf© ã¶mO H$s Am¡gV am{e ³¶m h¡ Omo H$ånZr Zo 

df© 1998-2002 H$s Ad{Y Ho$ Xm¡amZ ŵJVmZ H$s  

Wr?

	 (A)	 32.43	 (B)	 33.72

	 (C)	 34.18	 (D)	 36.66

043.	 df© 1998-2002 H$s Ad{Y Ho$ Xm¡amZ H$ånZr Ûmam  

{X¶o JE ~moZg H$s Hw$b am{e bJ^J Bg 

Ad{Y Ho$ Xm¡amZ {X¶o J¶o doVZ H$s Hw$b am{e 

H$m {H$VZm à{VeV h¡?

	 (A)	 0.1%	 (B)	 0.5%

	 (C)	 1.0%	 (D)	 1.25%

044.	 df© 1998 ‘| g^r ‘Xm| na Hw$b ì¶¶, df© 

2002 ‘| Hw$b ì¶¶ H$m bJ^J {H$VZm à{VeV 

Wm?

	 (A)	 62%	 (B)	 66%

	 (C)	 69%	 (D)	 71%

Stamp



6-AA ]	 [ 10 ]	 [ Contd...

NN
NN
NN
NN
NN
NN
NN
NN
NN
NN
NN
NN
NN

Direction (Q.45 - Q.47) : 

Based on pie chart given below, answer the following 

questions.

Details of expenditure in percentage

045.	 If the total spending is Rs. 50,000 Cr., how 

much money was spent on highways?

	 (A)	 Rs. 3,500 Cr.	 (B)	 Rs. 22,500 Cr.	

	 (C)	 Rs.15,000 Cr.	 (D)	 Rs. 20,000  Cr.

046.	 Approximately, how many times the amount  

spent on highways is spent on education?

	 (A)	 10	 (B)	 3

	 (C)	 5	 (D)	 15

047.	 Approximately, what fraction of the total 

expenditure is spent, on highways and 

public welfare combined?

	 (A)	 5
2 	 (B)	 5

1

	 (C)	 2
1 	 (D)	 3

2

{ZX}e (Q.45 - Q.47) : 

ZrMo {X¶o J¶o nmB©MmQ>© Ho$ AmYma na {ZåZ{b{IV àíZm|  

H$m CÎma X|…

IM© H$m {ddaU à{VeV ‘|

045.	 ¶{X Hw$b IM© é. 50,000  H$amo‹S> h¡ Vmo amÁ¶‘mJm] 

na {H$VZm IM© {H$¶m J¶m?

	 (A)	 é. 3,500 H$amo‹S>	 (B)	 é. 22,500 H$amo‹S>

	 (C)	 é. 15,000 H$amo‹S>	 (D)	 é. 20,000 H$amo‹S>

046.	 amÁ¶‘mJm] na IM© hmoZo dmbr am{e H$m bJ^J 

{H$VZm JwUm {ejm na IM© {H$¶m OmVm h¡?

	 (A)	 10	 (B)	 3

	 (C)	 5	 (D)	 15

047.	 amÁ¶‘mJm] Am¡a bmoH$ H$ë¶mU na Hw$b IM© 

H$m bJ^J {H$VZm {hñgm g§¶w³V én go IM© 

[H$¶m OmVm h¡?

	 (A)	 5
2 	 (B)	 5

1

	 (C)	 2
1 	 (D)	 3

2
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Direction (Q.48 - Q.50) : 
Based on Bar graph given below, answer the 
following questions:
The Bar graph given below shows the sales of 
books (in thousand number) from six branches 
of a publishing company during two consecutive 
years 2000 and 2001.
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048.	 What is the ratio of total sales of branch  

B2 for both years to total sales of branch 

B4 for both years?

	 (A)	 2 : 3	 (B)	 3 : 5

	 (C)	 4 : 5	 (D)	 7 : 9

049.	 Total sales of branch B6, for both years, 

is what percent of the total sales of branch 

B3 for both the years?

	 (A)	 68.54 %	 (B)	 71.11 %

	 (C)	 73.17 %	 (D)	 75.55 %

050.	 What percent of the average sales of 

branches B1, B2 and B3 in 2001, is the 

average sales of branches B1, B3 and B6 

in 2000?

	 (A)	 75 %	 (B)	 77.5 %

	 (C)	 82.5 %	 (D)	 87.5 %

{ZX}e (Q.48 - Q.50) : 
ZrMo {X¶o J¶o ~ma J«m’$ Ho$ AmYma na {ZåZ{b{IV àíZm|  

H$m CÎma X|…

ZrMo {X¶m J¶m ~ma J«m’$, df© 2000 Am¡a 2001 Ho$ 

Xm¡amZ EH$ àH$meZ H$ånZr H$s N>… emImAm| go nwñVH$m| 

H$s {~H«$s (hOmamo ‘|) H$mo Xem©Vm h¡&
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048.	 XmoZm| dfm] Ho$ {b¶o, emIm B2 H$s Hw$b {~H«$s 

Am¡a emIm B4 H$s Hw$b {~H«$s H$m AZwnmV 

³¶m h¡?

	 (A)	 2 : 3	 (B)	 3 : 5

	 (C)	 4 : 5	 (D)	 7 : 9

049.	 XmoZm| dfm] Ho$ {b¶o emIm B6 H$s Hw$b {~H«$s 

emIm B3 H$s Hw$b {~H«$s H$m {H$VZm à{VeV 

h¡?

	 (A)	 68.54 %	 (B)	 71.11 %

	 (C)	 73.17 %	 (D)	 75.55 %

050.	 df© 2000 ‘| B1, B3 Am¡a B6 emImAm| H$s 

Am¡gV {~H«$s, df© 2001 ‘| B1, B2 Am¡a B3 

emImAm| H$s Am¡gV {~H«$s H$m {H$VZm à{VeV 

h¡?

	 (A)	 75 %	 (B)	 77.5 %

	 (C)	 82.5 %	 (D)	 87.5 %
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051.	 Bg loUr H$mo XoI| 2, 5, 10, 50, 500, 5000, 

Bg loUr ‘| EH$ nX JbV h¡& Cg JbV nX H$mo  

~VmB©E&

	 (A)	 2	 (B)	 5

	 (C)	 500	 (D)	 5000

052.	 Bg loUr H$mo XoI| AB, BA, ABC, CBA, ABCD, 

…... H$m¡Z gm eãX AJbm hmoJm&

	 (A)	 ACBD	 (B)	 BACD

	 (C)	 CABD	 (D)	 DCBA

053.	 Hw$N> H$moS> ‘|, SIKKIM H$mo THLJJL Ho$ ê$n ‘|  

{bIm OmVm h¡& Cg H$moS> ‘| TRAINING H¡$go 

{bIm OmVm h¡?

	 (A)	 SQBHOHOH	 (B)	 UQBHOHOF

	 (C)	 UQBJOHOH	 (D)	 UQBJOHHO

054.	 `{X H$b‘ ‘oO h¡, ‘oO n§Im h¡, n§Im Hw$gu 

h¡, Am¡a Hw$gu N>V h¡, {Zå‘{bpIV ‘| go {H$g 

na EH$ ì`{º$ ~¡R> gH$Vm h¡?

	 (A)	 n§Im	 (B)	 Hw$gu

	 (C)	 N>V	 (D)	 ‘oO

055.	 XrnH$ Zo {Z{VZ go H$hm, “dh b‹S>H$m Omo 

’w$Q>~m°b IobVm h¡, ‘oao {nVm H$s nËZr H$s 

~oQ>r Ho$ Xmo ^mB`m| ‘| go N>moQ>m h¡& XrnH$ H$m 

’w$Q>~m°b IobZo dmbm b‹S>H$m go Š`m g§~§Y h¡?

	 (A)	 nwÌ	 (B)	 ^mB©

	 (C)	 gmbm	 (D)	 MMoam ^mB©

051.	� Look at this series 2, 5, 10, 50, 500, 5000, 

one term in this series is wrong. Find out the 

wrong term:

	 (A)	 2	 (B)	 5

	 (C)	 500	 (D)	 5000

052.	 Look at this series AB, BA, ABC, CBA, 

ABCD, …... which word should come next?

	 (A)	 ACBD	 (B)	 BACD

	 (C)	 CABD	 (D)	 DCBA

053.	 In certain code, SIKKIM is written as  

THLJJL. How is TRAINING written in that 

code?

	 (A)	 SQBHOHOH	 (B)	 UQBHOHOF

	 (C)	 UQBJOHOH	 (D)	 UQBJOHHO

054.	 If pen is table, table is fan, fan is chair, and 

chair is roof, on which the following will a 

person sit?

	 (A)	 Fan	 (B)	 Chair

	 (C)	 Roof	 (D)	 Table

055.	 Deepak said to Nitin, “That boy playing with 

the football is the younger of two brothers of 

the daughter of my father’s wife. How is the 

boy playing football related to Deepak? 

	 (A)	 Son	 (B)	 Brother

	 (C)	 Brother-in-law	 (D)	 Cousin

Paper 6 (Thinking and Decision Making)
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056.	 amOy a{d H$m ^mB© h¡, aoIm AVwb H$s ~hZ 

h¡& a{d aoIm H$m ~oQ>m h¡& amOy H$m aoIm go 

Š`m g§~§Y h¡?

	 (A)	 nwÌ	 (B)	 ^mB©

	 (C)	 nwÌr	 (D)	 ~hZ 

Q.57 go Q.59 Ho$ {bE {Xem-{ZX}e: ZrMo Xr JB© 

OmZH$mar n‹T>| Am¡a AmZo dmbo àým| Ho$ CÎma X|

A + B H$m AW© h¡ A, B H$s ~oQ>r h¡; A – B H$m ‘Vb~  

A, B H$m n{V h¡; A x B H$m AW© h¡ A, B H$m ^mB© h¡& 

057.	 `{X P + Q – R, {ZåZ{bpIV ‘| go H$m¡Z gm ghr h¡? 

(A)	 R, P H$s gmbr h¡

	 (B)	 R, P H$s ‘m± h¡

	 (C)	 R, P H$s MmMr h¡

	 (D)	 R, P H$s gmg h¡

058.	 `{X P x Q + R, {ZåZ{bpIV ‘| go H$m¡Z gm ghr h¡? 

(A)	 P, R H$m ^mB© h¡

	 (B)	 P, R H$m MmMm h¡

	 (C)	 P, R H$m nwÌ h¡

	 (D)	 P, R H$m {nVm h¡

059.	 `{X P + Q x R, {ZåZ{bpIV ‘| go H$m¡Z gm ghr h¡? 

(A)	 P, R H$s nwÌdYy h¡

	 (B)	 P, R H$m MMoam ^mB© h¡

	 (C)	 P, R H$s ~oQ>r h¡

	 (D)	 P, R H$s ^VrOr h¡

056.	 Raju is brother of Ravi, Rekha is sister of 

Atul. Ravi is son of Rekha. How is Raju 

related to Rekha?

	 (A)	 Son	 (B)	 Brother

	 (C)	 Daughter	 (D)	 Sister

Directions for Q.57 to Q.59 : Read the information 

given below and answer the questions that follow:

A + B means A is the daughter of B; A – B means A is 

the husband of B; A x B means A is the brother of B.

057.	 If P + Q – R, which of the following is true?

	 (A)	 R is the sister-in-law of P

	 (B)	 R is the mother of P

	 (C)	 R is the aunt of P

	 (D)	 R is the mother-in-law of P

058.	 If P x Q + R, which of the following is true:

	 (A)	 P is the brother of R

	 (B)	 P is the uncle of R

	 (C)	 P is the son of R

	 (D)	 P is the father of R

059.	 If P + Q x R, which of the following is true?

	 (A)	 P is the daughter-in-law of R

	 (B)	 P is the cousin of R

	 (C)	 P is the daughter of R

	 (D)	 P is the niece of R
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060.	 J{UV H$m Omo gå~ÝY g§»`m go h¡ d¡go hr B{Vhmg 

H$m gå~ÝY h¡:

	 (A)	 {XZmH$m| go	 (B)	 `wÕm| go

	 (C)	 KQ>ZmAm| go	 (D)	 bmoJ go

061.	 g‘wÐ H$m Omo gå~ÝY gmBŠbmoZ go h¡ d¡go hr 

AmH$me H$m gå~ÝY h¡:

	 (A)	 hdm	 (B)	 hdmB© OhmO

	 (C)	 Zrbm	 (D)	 ~mXb

062.	 {Og àH$ma gË`OrV am` {’$ë‘ go gå~pÝYV h¢  

d¡go hr {nH$mgmo H$m gå~ÝY {H$ggo h¡?

	 (A)	 n|qQ>J	 (B)	 H${dVm

	 (C)	 gm{hË`	 (D)	 S´m‘m

063.	 `{X PRICE H$mo SVNIL Ho$ ê$n ‘| H$mo{S>V {H$`m  

J`m h¡, Vmo COST H$mo {ZåZ Ho$ ê$n ‘| H$mo{S>V {H$`m 

OmEJm:

	 (A)	 FSXY	 (B)	 FSWY

	 (C)	 FTWZ	 (D)	 FSXZ

064.	 `{X MADRAS H$mo 56 Ho$ ê$n ‘| H$mo{S>V {H$`m  
J`m h¡, Vmo CALCUTTA H$mo H¡$go H$mo{S>V {H$`m Om 
gH$Vm h¡?

	 (A)	 8	 (B)	 38

	 (C)	 81	 (D)	 76

060.	 Mathematics is related to numbers in the 

same way as History is related to

	 (A)	 Dates	 (B)	 Wars

	 (C)	 Events	 (D)	 People

061.	 Sea is related to Cyclones in the same way as 

Sky is related to 

	 (A)	 Wind	 (B)	 Airplane

	 (C)	 Blue	 (D)	 Cloud

062.	 What is associated with Picasso, as Films is 

associated with Satyajit Ray?

	 (A)	 Painting	 (B)	 Poetry 

	 (C)	 Literature	 (D)	 Drama

063.	 If PRICE is coded as SVNIL, COST will be 

coded as:

	 (A)	 FSXY	 (B)	 FSWY

	 (C)	 FTWZ	 (D)	 FSXZ

064.	 If MADRAS is coded as 56, how can 

CALCUTTA be coded?

	 (A)	 8	 (B)	 38

	 (C)	 81	 (D)	 76
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065.	 EH$ H$moS> ^mfm ‘| ‘SauPeyTe’ H$m AW© h¡ 

‘S>m°ŠQ>a {dZmoX Hw$‘ma’, ‘Ting Pu Sau’ H$m AW© h¡  

‘gVre S>m°ŠQ>a h¡’, ‘Ping Pong Ting’ H$m AW© h¡  

‘gVre Am¡a am‘’& Cg ^mfm Ho$ {H$g eãX 

H$m AW© ‘is’ h¡?

	 (A)	 Sau	 (B)	 Pey

	 (C)	 Pu	 (D)	 Ting

066.	 `{X Am`V H$mo EH$ d¥Îm H$hm OmVm h¡, Vmo EH$  

d¥Îm EH$ q~Xw h¡, EH$ q~Xw EH$ {ÌH$moU h¡, 

EH$ {ÌH$moU EH$ dJ© h¡, {’$a EH$ n{h`m h¡: 

	 (A)	 Am`V	 (B)	 d¥Îm

	 (C)	 q~Xw	 (D)	 dJ©

067.	 Amam‘ : ì`ñV :: a°’$ :?

	 (A)	 àH$ma	 (B)	 O§Jbr

	 (C)	 {‘bmdQ>r	 (D)	 R>rH$

068.	 MmbmH$ : bmo‘‹S>r :: S>anmoH$ :?

	 (A)	 hmWr	 (B)	 IaJmoe

	 (C)	 V|XwAm	 (D)	 JYm

069.	 Cg eãX g‘yh H$mo N>m§Q>o Omo Xygam| go AbJ 

h¡:

	 (A)	 BCD	 (B)	 KMN

	 (C)	 QRS	 (D)	 GHI

070.	 Cg g§»`m H$mo N>m§Q>o Omo Xygam| go AbJ h¡:

	 (A)	 381	 (B)	 552

	 (C)	 729	 (D)	 903

065.	 In certain code language ‘SauPeyTe’ means 

‘Doctor Vinod Kumar’, ‘Ting Pu Sau’ 

means ‘Satish is Doctor’, ‘Ping Pong Ting’ 

means ‘Satish and Ram’. Which word in that 

language means ‘is’?

	 (A)	 Sau	 (B)	 Pey

	 (C)	 Pu	 (D)	 Ting

066.	 If rectangle is called a circle, a circle is 

a point, a point is a triangle, a triangle is a 

square, then wheel is a:

	 (A)	 Rectangle	 (B)	 Circle

	 (C)	 Point	 (D)	 Square

067.	 Rest : Busy :: Coarse : ?

	 (A)	 Variant	 (B)	 Wild

	 (C)	 Adulterated	 (D)	 Fine

068.	 Cunning : Fox :: Timid : ?

	 (A)	 Elephant	 (B)	 Rabbit

	 (C)	 Leopard	 (D)	 Ass

069.	 Choose the group of letters which is different 

from others:

	 (A)	 BCD	 (B)	 KMN

	 (C)	 QRS	 (D)	 GHI

070.	 Choose the number which is different from 
others: 

	 (A)	 381	 (B)	 552
	 (C)	 729	 (D)	 903
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à.71 go à.75  VH$ Ho$ {bE {ZX}e: {ZåZ{bpIV gyMZm H$mo  

n‹T>o VWm Cg na AmYm[aV àým| Ho$ CÎma X|:

 

EH$ {dÚmb` ‘| nm±M {ejH$ Wo& A Ed§ B {hÝXr Am¡a 

A§J«oµOr n‹T>mVo Wo& C Ed§ B A§J«oµOr Am¡a ^yJmob n‹T>mVo 

Wo& D Ed§ A J{UV Am¡a qhXr n‹T>mVo Wo& E Ed§ B 

B{Vhmg Am¡a ’«|$M n‹T>mVo Wo&

071.	 {ejH$m| ‘| go H$m¡Z g~go Á`mXm {df` n‹T>mVm 

Wm?

	 (A)	 A	 (B)	 B
	 (C)	 C	 (D)	 E

072.	 {ZåZ{bpIV ‘| go H$m¡Z gm Omo‹S>m ŷJmob Ed§ qhXr 

XmoZm| n‹T>mVm Wm?

	 (A)	 A Ed§ B	 (B)	 B Ed§ C
	 (C)	 D Ed§ A	 (D)	 BZ‘| go H$moB© Zht

073.	 Xmo go Á`mXm {ejH$ H$m¡Z go {df` n‹T>mVo Wo?

	 (A)	 ^yJmob	 (B)	 B{Vhmg

	 (C)	 qhXr	 (D)	 ’«|$M

074.	 D, B Ed§ A {ZåZ{bpIV ‘| go H$m¡Z gm {df` 

n‹T>mVo Wo?

	 (A)	 Ho$db A§J«oOr

	 (B)	 Ho$db qhXr

	 (C)	 qhXr Am¡a A§J«oµOr

	 (D)	 A§J«oµOr Am¡a ^yJmob

075.	 {ejH$m| ‘| go H$m¡Z Xmo {df` go H$‘ n‹T>mVm 

Wm?

	 (A)	 A	 (B)	 B
	 (C)	 D	 (D)	 BZ‘| go H$moB© Zht

Directions for Q.71 to Q.75 : Read the following 

information and answer the questions based on it:

In a school there were five teachers. A and B were 

teaching Hindi and English. C and B were teaching 

English and Geography. D and A were teaching 

Mathematics and Hindi. E and B were teaching 

History and French.

071.	 Who among the teachers was teaching 
maximum number of subjects?

	 (A)	 A	 (B)	 B
	 (C)	 C	 (D)	 E

072.	 Which of the following pairs was teaching 
both Geography and Hindi?

	 (A)	 A and B	 (B)	 B and C
	 (C)	 D and A	 (D)	 None of these

073.	 More than two teachers were teaching which 
subject?

	 (A)	 Geography 	 (B)	 History
	 (C)	 Hindi	 (D)	 French

074.	 D, B, A were teaching which of the following 
subject?

	 (A)	 English only
	 (B)	 Hindi only
	 (C)	 Hindi and English
	 (D)	 English and Geography

075.	 Who among the teachers was teaching less 
than two subjects:

	 (A)	 A	 (B)	 B
	 (C)	 D	 (D)	 None of these
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076.	 Which presidential order is related to the 

abrogation of article 370 in Jammu and 

Kashmir by an amendment in the Indian 

constitution?

	 (A)	 1954	 (B)	 1949

	 (C)	 1978	 (D)	2019

077.	 Who has been conferred with the Dada Sahib 

Falke Award 2019 – Indian highest film honor 

for the contribution in Indian cinema?

	 (A)	 Dilip Kumar

	 (B)	 Amitabh Bachhan

	 (C)	 Shashi Kapur

	 (D)	 Anupam Kher

078.	 Which is the first Indian firm to hit Rs. 10 

lakh crore market capitalizations in 2019?

	 (A)	 Tata Consultancy Services

	 (B)	 Oil and Natural Gas Commission

	 (C)	 Coal India Limited

	 (D)	 Reliance Industries Limited

079.	 Which of the following Port recently 

celebrated its 150th anniversary and attended 

by the Prime Minister of India?

	 (A)	 Chennai Port Trust

	 (B)	 Kolkata Port 

	 (C)	 Bombay Port Trust

	 (D)	 Cochin Port Trust 

076.	 Oå‘y H$mí‘ra ‘o§ AZwÀN>oX 370 H$m {ZamH$aU 

^maVr¶ g§{dYmZ ‘| g§emoYZ Ho$ Ûmam {H$¶m 

OmZm {H$g amï´>n{V AmXoe go g§~§{YV h¡&

	 (A)	 1954	 (B)	 1949

	 (C)	 1978	 (D)	2019

077.	 XmXmgmh~ ’$mëHo$ gå‘mZ - ^maV H$m g~go 

~S>m {’$ë‘ gå‘mZ Omo {H$ ^maVm¶ {gZo‘m ‘o 

¶moJXmZ Ho$ {bE {H$gH$mo àXÎm {H$¶m J¶m h¡&

	 (A)	 {Xbrn Hw$‘ma

	 (B)	 A{‘Vm^ ~ÀMZ 

	 (C)	 e{e H$nya

	 (D)	 AZwn‘ Ioa

078.	 H$m¡Z gr ^maVr¶ ’$‘© Zo 10 bmI H$amo>‹S> Ho$ 

~mOma H$m ny§OrH$aU 2019 ‘| {H$¶m h¡…

	 (A)	 Q>mQ>m H$ÝgboQ>§gr godmE

	 (B)	 Vob Ed§ àmH¥${VH$ J¡g Am¶moJ

	 (C)	 ^maVr¶ H$mo¶bm g§ñWmZ

	 (D)	 [abm¶§g CÚmoJ g§ñWmZ

079.	 BZ‘| go {H$g ~§XaJmh Zo AnZm 150 df©JmR>§ 

‘Zm¶m h¡ {Og‘o ^maVr¶ àYmZ‘§Ìr Zo ^r ^mJ 

{b¶m Wm&

	 (A)	 M|ÝZB© ~§XaJmh

	 (B)	 H$mobH$mVm ~§XaJmh

	 (C)	 ~må~o ~§XaJmh

	 (D)	 H$moMrZ ~§XaJmh

Paper 6 (General Awareness)
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080.	 Who among the following was the Chairman 

of the Committee on Deepening Digital 

Payments appointed by the RBI?

	 (A)	 Nandan Nilekeni

	 (B)	 HR Khan

	 (C)	 NR Narayan Murthy

	 (D)	 Anand Mahindra

081.	 The Nobel Prize 2019 for Economics has 

been awarded to Abhijit Banerjee, Esther 

Duflo and Michael Kremer for

	 (A)	 Fight against poverty

	 (B)	 Consumption pattern among rural mass

	 (C)	� Decision making under asymmetric 

information

	 (D)	 Role of non-economic factors in trade

082.	 What was India’s rank among 156 countries 

in the Global Happiness Index 2019?

	 (A)	 140	 (B)	 132

	 (C)	 137	 (D)	134

083.	 Which constitutional amendments provide 

10% reservation to economically weaker 

section for general category candidates?                                                                                                                                     

	  (A)	123	 (B)	 124

	 (C)	 122	 (D)	121

080.	 BZ‘| go {H$go ^maVr¶ [aOd© ~¢H$ Ûmam S>rnZtJ 

{S>{OQ>b ^wJVmZ g{‘{V H$m AÜ¶j {Z¶w³V 

{H$¶m J¶m?

	 (A)	 ZÝXZ ZrbHo$Zr

	 (B)	 EM. Ama ImZ

	 (C)	 EZ. Ama Zmam¶U ‘y{V©

	 (D)	 AmZ§X ‘{hÝÐm

081.	 A{^OrV ~ZOu, EñWa S>âbmo Am¡a ‘mBH$b 

H«o$‘a H$mo 2019 H$mo Zmo~b nwañH$ma AW©emñÌ 

‘| {H$g H$m¶© Ho$ {bE {X¶m J¶m?

	 (A)	 Jar~r Ho$ {Ibm’$ b‹S>mB© ‘|

	 (B)	 J«m‘rU bmoJm| ‘| Cn¶moJ H$m n¡Q>Z© XoIZo ‘| 

(C)	 Ag‘{‘V gyMZm ‘| {ZU©¶ H$aZo ‘|

	 (D)	� AZm{W©H$ H$maH$m| ‘o§ ì¶mnma {djnU H$m 

¶moJXmZ

082.	 ^maV H$m XOm© 156 Xoem| ‘| d¡pídH$ àgÝZVm 

gyMH$m§H$ 2019 ‘| ³¶m Wm?

	 (A)	 140	 (B)	 132

	 (C)	 137	 (D)	134

083.	 {H$g g§d¡Ym{ZH$ g§emoYZ ‘| 10 à{VeV AmajU 

gm‘mÝ¶ dJ© Ho$ Am{W©H$ê$n go H$‘Omoa dJ© H$mo 

{X¶m J¶m h¡&

	 (A)	 123	 (B)	 124

	 (C)	 122	 (D)	121
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084.	 Which of the following cricketer has been 

named ICC ODI Cricketer of the Year 2019?

	 (A)	 Virat kohli	

	 (B)	 K L Rahul

	 (C)	 Rohit Sharma

	 (D)	 Suresh Raina

085.	 What is SWAYAM, an online learning 

platform initiated by the ministry of Human 

Resource Development?

	 (A)	� Study Webs of Active Learning for Young  

Aspiring Minds

	 (B)	� Study Webinar for Active Learning for 

Young Aspiring Minds

	 (C)	� Study While working for Active Learning  

for Yong Aspiration Minds

	 (D)	� Study Worldwide web of Active Learning 

for Youth of Aspiration Minds

086.	 As per the policy of partial privatization of 

operations of Indian Railways, premium 

express train Tejas between New Delhi and 

Lucknow is being run by?

	 (A)	 RITES

	 (B)	 ITDC

	 (C)	 IRCTC

	 (D)	 IRCON

084.	 {H$g {H«$Ho$Q> {Ibm‹S>r H$mo ICC EH$ {Xdgr¶ 

{H«$Ho$Q>a 2019 Zm{‘V {H$¶m J¶m h¡&

	 (A)	 {damQ> H$mohbr

	 (B)	 Ho$ Eb amhþb

	 (C)	 amo{hV e‘m©

	 (D)	 gwaoe a¡Zm

085.	 ‘mZd g§gmYZ ‘§Ìmb¶ Ûmam ewé [H$¶m J¶m 

AmZbmBZ grIZo H$m ßboQ>’$m‘© SWAYAM ³¶m h¡& 

(A)	� ñQ>S>r do~ Am’$ Ep³Q>d b{ZªJ AmH$m§jr 

¶wdm ‘pñVîH$ Ho$ {bE

	 (B)	� ñQ>S>r do~Zma Am’$ Ep³Vd b{ZªJ ¶wdm 

AmH$m§jr ‘Z Ho$ {bE

	 (C)	� ñQ>S>r O~ H$m¶©aV hmo g{H«$¶ grIZo hoVw 

¶wdm AmH$m§jr ‘Z Ho$ {bE

	 (D)	� ñQ>S>r {dídì¶mnr do~ g{H«$¶ grI ¶wdm 

AmH$m§jr ‘Z Ho$ {bE

086.	 ^maVr¶ aobdo Ûmam Am§{eH$ {ZOrH$aU Zr{V 

A§V©JV, àr{‘¶‘ Q´>oZ, VoOg, Z¶r {Xëbr Am¡a 

bIZD$ Ho$ ~rM H$m¡Z Mbm ahm h¡?

	 (A)	 Ama AmB© Q>r B© Eg

	 (B)	 AmB© Q>r S>r gr

	 (C)	 AmB© Ama gr Q>r gr

	 (D)	 BaH$mZ
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087.	 Who won the Tyler Prize 2020 for the work 
on bringing the economic consequences of 
environmental degradation and loss to the 
attention of corporate and political decision-
makers?

	 (A)	 Pawan Sukhdev

	 (B)	 Sunita Narayan

	 (C)	 Anil Agarwal

	 (D)	 Vandana Shiva

088.	 What is India’s rank in global competitive 
index 2019?

	 (A)	 58	 (B)	 72

	 (C)	 68	 (D)	71

089.	 In the context of digital technologies for 
entertainment, consider the following 
statements :

	 1.	� In Augmented Reality (AR), a simulated 

environment is created and the physical 

world is completely shut out.

	 2.	� In Virtual Reality (VR), images generated 

from a computer are projected onto real-

life objects or surroundings.

	 3.	� AR allows individuals to be present in the  

world and improves the experience using  

the camera of smartphone or PC.

	 4.	� VR closes the world, and transposes 

an individual, providing complete 

immersion experience

	 Which of the statements given above is/ are 
correct? 

	 (A)	 1 and 2 only	 (B)	 3 and 4

	 (C)	 1, 2, and 3	 (D)	4 only 

087.	 2020 H$m Q>mB©ba nwañH$ma Omo {H$ n¶m©daU Ho$ 

nVZ Ho$ Am{W©H$ Xþîn[aUm‘m| Am¡a H$ån{Z¶mo Am¡a 

amOZ¡{VH$ Zr{VH$mam| Ûmam ¿¶mZ Ho$ A^md H$mo 

boH$a {H$gZo OrVm h¡

	 (A)	 ndZ gwIXod

	 (B)	 gw{ZVm Zmam¶U

	 (C)	 A{Zb AJ«dmb

	 (D)	 dÝXZm {edm

088.	 ^maV H$m dm¡pídH$ à{V¶moJr gwM§H$mH$ ‘| ³¶m 

ñWmZ h¡?

	 (A)	 58	 (B)	 72

	 (C)	 68	 (D)	71

089.	 ‘Zmoa§OZ hoVw {S>{OQ>b VH$ZrH$ Ho$ g§X^© ‘| ZrMo 

{bE H$WZ H$m {dMma H$ao

	 1.	� AmJ‘oÝQ>oS> gƒmB© ‘| {g‘wboQ>oS> n¶m©H$aU 

~Zm¶m OmVm h¡ ^m¡{VH$ g§gma nyar Vah 

~ÝX ahVm h¡&

	 2.	� {daMwAb gƒmB© ‘|, H$ån¶wQ>a Ûmam ~Zm¶o 

J¶o {MÌ [a¶b bmB©’$ AmãOo³Q> na àmoOo³Q> 

H$aVo h¡.

	 3.	� AR bmoJm| H$mo g§gma ‘| ahZo XoVm h¡ Am¡a 

CZHo$ AZŵ d H$mo ñ‘mQ>© ’$moZ ¶m H$ån¶wQ>a$Ho$ 

H¡$‘ao go ~‹T>mVm h¡&

	 4.	� VR g§gma H$mo ~§X aIVm h¡ Am¡a CZH$mo 

nyU© gpåbàVm H$m AZw^d H$amVm h¡&

	 B‘ ‘| H$moZ go H$WZ gË¶ h¡?

	 (A)	 1 and 2	 (B)	 3 and 4

	 (C)	 1, 2, and 3	 (D)	Ho$db 4 
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090.	 In August 2019, the Government of India 

has allowed 100% FDI (Foreign Direct 

Investment) through automatic route in which 

sector?

	 I.	� Coal mining and associated 
infrastructure

	 II.	 Contract manufacturing

	 III.	 Digital media

	 IV.	 Defense production

	 Correct option is -

	 (A)	 I and II only	 (B)	 III and IV only

	 (C)	 I and III only	 (D)	 I and IV only

091.	 Kayakalp aims to promote sanitation and 

hygiene in which of the following institutions

	 (A)	 Public healthcare

	 (B)	 Primary schools

	 (C)	 All educational institutions

	 (D)	 Railway stations

092.	 Who has been has appointed as the first 

Chief of Defense Staff (CDS) by the Central 

Government heading the Indian Armed 

Forces and the senior-most uniformed 

military adviser to the Government of India

	 (A)	 General Bipin Rawat

	 (B)	 General B S Dhanoa

	 (C)	 Karambir Singh

	 (D)	 Rakesh Kumar Singh Bhadauria

090.	 AJñV 2019 ‘| ^maV gaH$ma Zo 100% grYm 

{dXoer {Zdoe ñdMm{bV ‘mJ© Ûmam grYo {H$g 

joÌ ‘| AZw‘{V Xr?

	 I.	 H$mob IXmZ Am¡a gh¶moJr AmYmarV g§aMZm

	 II.	 g§{dXm {Z‘m©U

	 III.	 {S>{OQ>b ‘r{S>¶m

	 IV.	 ajm CËnmXZ

	 ghr {ZH$ën h¡

	 (A)	 I and II Ho$db	 (B)	 III and IV Ho$db

	 (C)	 I and III Ho$db	 (D)	 I and IV Ho$db

091.	 H$m¶mH$ën H$m CÔoí¶ ñdÀN>Vm Ed§ g’$mB© H$mo 

~T>mdm XoZo hoVw {H$g g§ñWmZ ‘| h¡?

	 (A)	 OZ ñdmñW

	 (B)	 àmW{‘H$ ñHw$b

	 (C)	 g^r {ejU g§ñWmAo ‘|

	 (D)	 aobdo ñQ>oeZ

092.	 ^maV gaH$ma Ûmam àW‘ ‘w»¶ ajm ñQ>m’$ H$s 

{Z¶wp³V {H$go {H$¶m J¶m h¡ Omo {H$ ^maVr¶ 

gwajm ~bm| H$m ‘w{I¶m hmoJm Am¡a gdm©{YH$ 

d[aîR> ¶w{Z’$m‘© ‘| {‘{bQ´>r gbmhH$ma ahoJm…

	 (A)	 OZab {~{nZ amdV

	 (B)	 OZab ~r Eg KZmoAm§

	 (C)	 H$‘©dra qgh

	 (D)	 amHo$e Hw$‘ma qgh ^Xm¡[a¶m
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093.	 ^maVr¶ kmZnrR> nwañH$ma 2019 H$mo àmßV H$aZo 
dmbm H$m¡Z h¡?

	 (A)	 e§H$a Hw$én	

	 (B)	 A{‘Vmdm Kmof

	 (C)	 H¥$îUm gmoãVr	

	 (D)	 A³H$sVZ AÀ¶wVZ Zå~yXar

094.	 EH$Vm H$r ‘y{V© {H$g ^maVr¶ amOZoVm go g§~§{YV 

h¡?

	 (A)	 ‘hmË‘m Jm§Yr

	 (B)	 amOoÝÐ àgmX

	 (C)	 gaXma nQ>ob

	 (D)	 Odmha bmb Zohé

095.	 Z¶o g§emo{H$V ZmJ[aH$Vm H$mZyZ 2019 Ho$ A§V©JV 

{H$Z Xoemo§ Ho$ {Zdm{g¶m| H$mo ^maVr¶ ZmJ[aH$Vm 

H$s AZw‘{V {‘boJr&

	 (A)	 ‘¶§‘ma, ~§Jbm Xoe, A’$Jm{ZñVmZ

	 (B)	 ~§JbmXoe, nm{H$ñVmZ Am¡a lr b§H$m

	 (C)	 A’$Jm{ZñVmZ, ~§Jbm Xoe Am¡a nm{H$ñVmZ

	 (D)	 lrb§H$m, A’$Jm{ZñVmZ Am¡a nm{H$ñVmZ

096.	 2019 H$mo ^maVr¶ Am{W©H$ gd}jU Ho$ AmYma na 

AW©ì¶dñWm H$s AZw‘m{ZV {dH$mg Xa ³¶m ahoJr? 

(A)	 5 go 5.5%

	 (B)	 6 go 6.5%

	 (C)	 5 go 6%

	 (D)	 6.5 go 7%

093.	  Who is the recipient of Jnanpith award 2019?

	 (A)	 Shankar Kurup

	 (B)	  Amitava Ghosh

	 (C)	 Krishna Sobti

	 (D)	 Akkitham Achuthan Namboothiri

094.	 Statue of Unity is related to which Indian 

statesman?

	 (A)	 Mahatma Gandhi

	 (B)	 Rajendra Prasad

	 (C)	 Sardar Patel

	 (D)	 Jawaharlal Nehru

095.	 Under the new citizenship amendment 

act 2019, residents of which countries are 

allowed to get citizenship in India?

	 (A)	 Myanmar, Bangladesh, Afghanistan

	 (B)	  Bangladesh, Pakistan and Sri Lanka

	 (C)	 Afghanistan, Bangladesh and Pakistan

	 (D)	  Sri Lanka, Afghanistan and Pakistan

096.	 As per the Economic survey of India 2019, 

what is the projected growth rate of economy?

	 (A)	 5  to 5.5 %

	 (B)	 6  to 6.5 %

	 (C)	 5  to 6 %

	 (D)	 6.5  to 7 %
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097.	 {H$gr Xoe Zo nhbr hm¶nagmo{ZH$ {‘gmB©b V¡ZmV 

H$s h¡ Omo {H$ Üd{Z H$s 27 JwZm doJ go CS> 

gH$Vr h¡?

	 (A)	 A‘o[aH$m	 (B)	 ’«$m§g

	 (C)	 O‘©Zr	 (D)	 ê$g

098.	 ‘[aboÝQ>bog’ erf©H$ go AmË‘H$Wm {H$gZo {bIr 

h¢?

	 (A)	 ‘Z‘mohZ qgh

	 (B)	 àUd ‘wIOu

	 (C)	 ¶ed§V {gÝhm	

	 (D)	 Eb. Ho$ Am‹S>dmUr

099.	 BZ‘o go H$m¡Z-gr Z¶t Q>obr‘o{Q>³g ‘moQ>a ~r‘m 

¶moOZm ~r‘m {Z¶m‘H$ Ed§ {dH$mg àYrH$aU 

(IRDAI) Ûmam gwPmB© JB© h¡?

	 (A)	 Zo‘‹S> S´>mB©da nmo{bgr>

	 (B)	 AmoZ§g© ~r‘m nmo{bgr

	 (C)	 Zo‘‹‹S> amB©‹S>a ~r‘m

	 (D)	 Zo‘‹‹S> AmonaoQ>a ~r‘m

100.	 {H$gr ^maVr¶ ‘w³Ho$~mO Zo {díd ‘w³Ho$~mOr 

à{V¶mo{JVm 2019 ‘| aOV nXH$ OrVm h¢?

	 (A)	 drOoÝXa qgh

	 (B)	 ¶moJoída XÎm

	 (C)	 Am[a’$ bm§~m

	 (D)	 A{‘V nm§Kb

097.	 Which country has deployed the first 

hypersonic missiles, which can fly 27 times 

the speed of sound?

	 (A)	 America	 (B)	 France

	 (C)	 Germany	 (D)	Russia

098.	 Who wrote the autobiography titled 
‘Relentless’?

	 (A)	 Man Mohan Singh

	 (B)	 Pranab Mukherjee

	 (C)	 Yashvant Sinha

	 (D)	 L K Advani

099.	 Which of the following is the newly suggested 

telematics motor insurance by the Insurance 

Regulatory and Development Authority of 

India (IRDAI)?

	 (A)	 Named driver policy

	 (B)	 Owners insurance policy

	 (C)	 Named rider insurance

	 (D)	  Named operator insurance

100.	 Which Indian boxer won the silver medal in 
world boxing championship 2019?

	 (A)	 Vijender Singh

	 (B)	  Yogeshwar Dutt

	 (C)	 Arif Lamba

	 (D)	 Amit Panghal
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